F1500001782

| (Re | questor's Name) | |
|-------------------------|--------------------|-----------|
| (Ad | dress) | |
| (Ad | dress) | |
| (Cit | ty/State/Zip/Phone | ÷ #) |
| | WAIT | <u></u> |
| (Bu | siness Entity Nam | ne) |
| (Do | cument Number) | |
| Certified Copies | _ Certificates | of Status |
| Special Instructions to | Filing Officer: | |
| | | |
| | | |
| | | |
| | | |

Office Use Only



000271956190

04/22/15--01012--004 **70.00

15 APR 22 PH 4: 53

APR 2 7 2015

S. GILBERT

COVER LETTER

| TO: New Filing Section | |
|---|--|
| Division of Corporations | |
| SUBJECT: C-E Minerals, Inc. | |
| Name of corporat | ion - must include suffix |
| Dear Sir or Madam: | |
| The enclosed "Application by Foreign Corporation f "Certificate of Existence," or "Certificate of Good S above referenced foreign corporation to transact bus | tanding" and check are submitted to register the |
| Please return all correspondence concerning this mat | ter to the following: |
| Jane Jacob | |
| Name o | of Person |
| Imerys | |
| Firm/Co | ompany |
| 100 Mansell Court NE, Suite 30 | 00 |
| · Add | dress |
| Roswell, GA 30076 | |
| City/State | and Zip code |
| jane.jacob@imerys.com | |
| E-mail address: (to be used | d for future annual report notification) |
| For further information concerning this matter, please | e call: |
| Jane Jacob | 645-3468 |
| | a Code & Daytime Telephone Number |
| | |
| STREET/COURIER ADDRESS: New Filing Section Division of Corporations Clifton Building 2661 Executive Center Circle Tallahassee, FL 32301 | MAILING ADDRESS: New Filing Section Division of Corporations P.O. Box 6327 Tallahassee, FL 32314 |
| Enclosed is a check for the following amount: | • |
| \$70.00 Filing Fee S78.75 Filing Fee & Certificate of Status | ☐ \$78.75 Filing Fee & ☐ \$87.50 Filing Fee, Certified Copy |

APPLICATION BY FOREIGN CORPORATION FOR AUTHORIZATION TO TRANSACT BUSINESS IN FLORIDA

IN COMPLIANCE WITH SECTION 607.1503, FLORIDA STATUTES, THE FOLLOWING IS SUBMITTED TO REGISTER A FOREIGN CORPORATION TO TRANSACT BUSINESS IN THE STATE OF FLORIDA.

| | | adopted for the purpose of transacting business in Florida |) |
|---------------------------------------|--|--|-------------------|
| _{2.} Delawar | | 51-0393626 | _ |
| • | ry under the law of which it is incorporated) | (FEI number, if applicable) | |
| · · · · · · · · · · · · · · · · · · · | per 9, 2009 5. | | _ |
| February | e of incorporation) | (Duration: Year corp. will cease to exist or "perpetual") | , |
| _{7.} 100 Mans | (Date first transacted business in (SEE SECTIONS 607.1501 & 607.15 sell Court East, Suite 615, I | Roswell, GA 30076 | |
| 100 Mans | ell Court East, Suite 300, Ro | swell, GA 30076 | _ |
| | (Current mailing addr | ess) | |
| 8. Name and stree | et address of Florida registered agent: (P.C |). Box <u>NOT</u> acceptable) | |
| Name: | CT Corporation System | | ภี |
| Office Address: | 1200 South Pine Island Ro | ad 🚉 📑 | » |
| | Plantation | , Florida 33324 | ٥ <u>ټ</u> ــــ |
| | (City) | (Zip code) | 2 |
| designated in this | ed as registered agent and to accept servic application, I hereby accept the appointm | re of process for the above stated corporation at the ent as registered agent and agree to act in this cap plative to the proper and complete performance of the | place acity. I |

10. Attached is a certificate of existence duly authenticated, not more than 90 days prior to delivery of this application to the Department of State, by the Secretary of State or other official having custody of corporate records in the jurisdiction under the law of which it is incorporated.

(Registered agent's signature)

Terence Hardley Asst. Secretary

| A. DIKI | ECTORS |
|------------|---|
| Chairman | |
| Address: | |
| | |
| /ice Chai | rman: |
| ddress: | |
| _ | |
| irector: | |
| .ddress: | |
| _ | |
| irector: | |
| ddress: _ | |
| • | |
| . OFFI | |
| esident: | |
| ddress: _ | <u> </u> |
| _ | |
| ce Presid | ent: |
| | |
| _ | |
| cretary: . | |
| dress: | |
| easurer: | |
| dress: | |
| | necessary, you may attach an addendum to the application listing additional officers and/or directors. |
| | |
| · | Signature of Director or Officer |
| e officer | or director signing this document (and who is listed in number 12 above) affirms that the facts stated herein I that he or she is aware that false information submitted in a document to the Department of State constitute ee felony as provided for in s.817.155, F.S. |

C-E Minerals, Inc.

Directors:

Michel Cornellisen 100 Mansell Court East, Suite 615, Roswell, GA 30076

Jeffrey C.Hicks 100 Mansell Court East, Suite 300, Roswell, GA 30076

Officers:

Michel Cornellisen, Vice President and General Manager 100 Mansell Court East, Suite 615, Roswell, GA 30076

James Bennett Kuykendall, Vice President, General Counsel-North and Central America and Secretary 100 Mansell Court East, Suite 300, Roswell, GA 30076

Stephane Bouchet, Controller, Refractory Minerals North America 100 Mansell Court East, Suite 615, Roswell, GA 30076

Dale Voyles, Assistant Secretary 100 Mansell Court East, Suite 300, Roswell, GA 30076

Mekalaradha (Radha) Murphy, Assistant Secretary 100 Mansell Court East, Suite 300, Roswell, GA 30076

Ryan J. Van Meter, Assistant Secretary 100 Mansell Court East, Suite 300, Roswell, GA 30076



PAGE 1

The First State

I, JEFFREY W. BULLOCK, SECRETARY OF STATE OF THE STATE OF

DELAWARE, DO HEREBY CERTIFY "C-E MINERALS, INC." IS DULY

INCORPORATED UNDER THE LAWS OF THE STATE OF DELAWARE AND IS IN

GOOD STANDING AND HAS A LEGAL CORPORATE EXISTENCE SO FAR AS THE

RECORDS OF THIS OFFICE SHOW, AS OF THE TWENTY-SIXTH DAY OF

MARCH, A.D. 2015.

3094767 8300

150350704

AUTHENTY CATION: 2240862

DATE: 03-26-15

You may verify this certificate online at corp.delaware.gov/authver.shtml